Question-1
1. Example of structural part is...

A) Plumbing system B) Electrical Supply C) Foundation. D) Gas supply
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2. Formation of small patches of plaster swelling over finished plaster surface is called...
A) Blistering. B) Crazing C) Flaking D) Popping
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3. Purpose of maintenance of building is...
A) To protect building from wear B) To strengthen weak parts C) To give good appearance

D) all of the above.
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4. Measures to restrict wear or decay of building...

A) Preventive maintenance. B) Remedial maintenance C) A and B both D) none of the above
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5. One of the building services is...
A) Plumbing system. B) Roof C) Foundation D) RCC items
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6. Example of routine maintenance...

A) washing of building B) cleaning of sewer lines C) cleaning of w/c. D) fill depressions near
compound wall
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7. Impermeable paints...
A) cement paints B) oil based paints. C) emulsion paints D) none of the above
8. Material used for acid etching...

A) Silicon B) Silver C) 10% solution of HCL. D) none of the above
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9. Example of periodical maintenance...

A) washing of building. B) cleaning of sewer lines C) cleaning of w/c D) fill depressions near
compound wall
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10. Example of post-monsoon maintenance...

A) washing of building B) cleaning of sewer lines C) cleaning of w/c D) fill depressions near
compound wall.

11. Example of structural part is...

A) Plumbing system B) Electrical Supply C) Flooring. D) Gas supply
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12. Formation of series of hair cracks over plaster surface is called...
A) Blistering B) Crazing. C) Flaking D) Popping
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13. Measures to repair any part of building after damage...

A) Preventive maintenance B) Remedial maintenance. C) A and B both D) none of the above
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14. Example of pre-monsoon maintenance. ..

A) washing of building B) cleaning of sewer lines. C) cleaning of w/c D) fill depressions near
compound wall

15. One of the building services is...

A) Electrical Supply. B) Roof C) Foundation D) RCC items
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16. Example of remedial maintenance...

A) washing of building B) cleaning of sewer lines C) cleaning of w/c D) repair of plaster.
17. Permeable paints...

A) cement paints B) emulsion paints C) oil based paints D) A and B both.

18. Example of periodical maintenance...

A) painting of doors and windows. B) cleaning of sewer lines C) cleaning of w/c D) fill
depressions near compound wall

19. Pipe carrying discharge from kitchen...
A) Soil pipe B) Waste pipe. C) Vent pipe D) none of the above
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20. Impermeable paints...

A) breathing type paints B) non breathing type paints. C) cement paints D) A and B both
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21. Example of structural part is...

A) Plumbing system B) Electrical Supply C) RCC parts. D) Gas supply
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22. Formation of very loose mass of plaster surface is called...

A) Blistering B) Crazing C) Flaking. D) Popping



23. Example of remedial maintenance...

A) repair of leakage. B) cleaning of sewer lines C) cleaning of w/c D) applying waterproofing
course
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24. Major component of white wash...

A) Water B) Indigo C) Lime. D) none of the above
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25. One of the building services is...

A) Gas Supply. B) Roof C) Foundation D) RCC items
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26. Pipe used for ventilation...

A) Soil pipe B) Waste pipe C) Vent pipe. D) none of the above
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27. Factors affecting damage to building...
A) weathering conditions B) pollution C) termite D) all of the above.
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28. Full form of OBD...

A) Oil Bound Distemper. B) Oil Better Distemper C) Ordinary Bound Distemper D) none of
the above

29. Example of pre-monsoon maintenance. ..

A) washing of building B) applying waterproofing course. C) cleaning of w/c D) fill
depressions near compound wall

30. Material used as masonry water repellent...

A) Silicon. B) Silver C) 10% solution of HCL D) none of the above
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31. Example of structural part is...

A) Plumbing system B) Electrical Supply C) Masonry walls. D) Gas supply
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32. Formation of conical hole over plaster surface due to presence of some particles is called...
A) Blistering B) Crazing C) Flaking D) Popping.

33. Example of remedial maintenance...

A) washing of building B) cleaning of sewer lines C) repair of flooring. D) applying
waterproofing course

34. Material used as putty...

A) Plaster of London B) Plaster of Paris. C) Plaster of Newyork D) none of the above
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35. One of the building services is...

A) Garden. B) Roof C) Foundation D) RCC items
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36. Permeable paints...

A) breathing type paints. B) non breathing type paints C) oil based paints D) A and B both
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37. For sprinkling water in garden which pipe fitting is applied...

A) Elbow B) Bend C) Shower. D) none of the above

38. Example of pre-monsoon maintenance. ..

A) washing of building B) repair of plaster in outer walls. C) cleaning of w/c D) fill
depressions near compound wall

39. Pipe carrying Human excreta. ..



A) Soil pipe. B) Waste pipe C) Vent pipe D) none of the above
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40. Pipe carrying Sullage...

A) Soil pipe B) Waste pipe. C) Vent pipe D) none of the above

41. Example of structural part is...

A) Plumbing system B) Electrical Supply C) Doors and Windows. D) Gas supply
42. Cause of dampness in building is...

A) Rising dampness from ground B) Rain from roof C) Rain from top of walls
D) all of the above.

43. Chemical used for soil treatment to restrict termite attack...

A) Aldrin B) Heptachlor C) Chlordane D) all of the above.

44. Example of routine maintenance...

A) washing of building B) cleaning of sewer lines C) cleaning of floor. D) fill depressions near
compound wall

45. One of the building services is...

A) Compound wall. B) Roof C) Foundation D) RCC items
46. Example of pre-monsoon maintenance...

A) washing of building B) changing broken tiles of roof. C) cleaning of w/c D) fill depressions
near compound wall

47. Component of white wash...

A) Water B) Indigo C) Lime D) all of the above.

48. Pipe carrying Sewage...

A) Soil pipe. B) Waste pipe C) Vent pipe D) none of the above
49. Example of remedial maintenance...

A) washing of building B) anti termite treatment. C) cleaning of w/c D) fill depressions near
compound wall

50. Example of structural part is...

A) Plumbing system B) Electrical Supply C) Roof. D) Gas supply



Question-2

1. Distress means...

A) Damage. B) Distance C) Design D) none of the above
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2. Cause of distress...

A) Workmanship B) Material C) Design error D) all of the above.
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3. Use of waste water in construction is an example of...

A) Visual error B) Construction error. C) Design error D) none of the above
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4. Preliminary inspection is a stage of...

A) Commercial survey B) Construction survey C) Condition survey. D) none of the above
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5. Error in load calculations is an example of...

A) Visual error B) Construction error C) Design error. D) none of the above
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6. Visual Inspection involves this activity...

A) Crack width B) Colour and texture C) Spelling of concrete D) all of the above.
7. Causes of distress in concrete. ..

A) Shrinkage B) Material C) Design error D) all of the above.
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8. Test to find chemical attack...

A) Rebound hammer test B) Chloride test. C) Half cell method D) Xray diffraction



9. Full form of NDT...

A) Non Destructive Test. B) New Destructive Test C) Notable Destructive Test D) none of the
above
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10. Test to find corrosion potential assessment...

A) Rebound hammer test B) Chloride test C) Permeability test. D) Xray diffraction

11. Premature removal of formwork in construction is an example of...

A) Visual error B) Construction error. C) Design error D) none of the above

11. oliESIHHL SRS syedl 22 529 d 25 Gelsm €9 ..

2) [Anypid &d ofl) otifsid ad. ) Beidd & &) Gurisd 56 4l

12. Planning is a stage of...

A) Commercial survey B) Construction survey C) Condition survey. D) none of the above
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13. Test to find in situ concrete strength...

A) Load test. B) Chloride test C) Half cell method D) Xray diffraction

14. Quality of concrete is called doubtful if Ultrasonic Pulse Velocity (in km/s)...
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15. Use of excessive brickbats in construction is an example of...

A) Visual error B) Construction error. C) Design error D) none of the above
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16. Rebound hammer test was developed by which scientist...

A) Rebound Schmidt B) Ernst Rebound C) Ernst Schmidt. D) none of the above
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17. Test to find Soundness...

A) Impact echo test. B) Chloride test C) Half cell method D) Xray diffraction



18. Assuming Soil bearing capacity without plate load test is an example of...

A) Visual error B) Construction error C) Design error. D) none of the above

19. Test to find chemical attack...

A) Rebound hammer test B) Carbonation test. C) Half cell method D) Xray diffraction
20. Quality of concrete is called excellent if Ultrasonic Pulse Velocity (in km/s)...
A)<3B)3t03.5C)3.5t04.5D) >45.

21. Unpredictable cause of distress...

A) Earthquake B) Bomb blast C) Air strike D) all of the above.
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22. Use of poor material in construction is an example of...

A) Visual error B) Construction error. C) Design error D) none of the above
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23. Visual inspection is a stage of...

A) Commercial survey B) Construction survey C) Condition survey. D) none of the above
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24. Test to find in situ concrete strength. ..

A) Capo/pull out test. B) Chloride test C) Half cell method D) Xray diffraction

25. Which of the following is Partially Destructive test...

A) Pull off test B) Penetration resistance test C) CAPO test D) all of the above.

26. Test to find Fire damage assessment...

A) Rebound hammer test B) Chloride test C) Half cell method D) Xray diffraction.
27. Segregation of concrete is an example of ...

A) Visual error B) Construction error. C) Design error D) none of the above
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28. Test to find chemical attack...



A) Rebound hammer test B) Sulphate test. C) Half cell method D) Xray diffraction
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29. Which of the following is a Non Destructive test...

A) Ultrasonic Pulse Velocity test B) Rebound hammer test C) Nuclear method D) all of the
above.
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30. Test to find Soundness...
A) Radiography. B) Chloride test C) Half cell method D) Xray diffraction
31. Technical name of damage...

A) Distress. B) Distance C) Design D) none of the above

34, sl dsellsl ...

) dsdls. ofl) vid2 «l) R &) Gurisd 56 <l

32. Use of poor mixing of concrete in construction is an example of...

A) Visual error B) Construction error. C) Design error D) none of the above
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33. Laboratory testing is a stage of...

A) Commercial survey B) Construction survey C) Condition survey. D) none of the above
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34. Test to find corrosion potential assessment...

A) Rebound hammer test B) Chloride test C) Half cell method. D) Xray diffraction

35. Test to find Soundness...

A) Ultrasonic Pulse Velocity test. B) Chloride test C) Half cell method D) Xray diffraction
36. Test to find corrosion potential assessment...

A) Rebound hammer test B) Chloride test C) Resistivity meter. D) Xray diffraction

37. Test to find in situ concrete strength...



A) Rebound hammer test. B) Chloride test C) Half cell method D) Xray diffraction

38. Which of the following is not a Partially Destructive test...

A) Pull off test B) Rebound hammer test. C) CAPO test D) none of the above

39. Quality of concrete is called medium if Ultrasonic Pulse Velocity (in km/s)...
A)<3B)3t03.5.C)35t04.5D)>4.5

40. Test to find Fire damage assessment...

A) Rebound hammer test B) Chloride test C) Half cell method D) Diffrantial thermal analysis.
41. One of the unpredictable cause of distress...

A) Earthquake. B) Material C) Design error D) none of the above
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42. Poor compaction of concrete in construction is an example of...

A) Visual error B) Construction error. C) Design error D) none of the above
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43. Survey conducted for defining area of distress...

A) Commercial survey B) Construction survey C) Condition survey. D) none of the above
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44. Test to find corrosion potential assessment...

A) Rebound hammer test B) Chloride test C) Cover meter method. D) Xray diffraction

45. Quality of concrete is called good if Ultrasonic Pulse Velocity (in km/s)...

A) <3 B) 3103.5C) 3.5t04.5. D) >4.5

46. Test to find in situ concrete strength. ..

A) Ultrasonic Pulse Velocity test. B) Chloride test C) Half cell method D) Xray diffraction
47. Which of the following is not a Non Destructive test...

A) Ultrasonic Pulse Velocity test B) Rebound hammer test C) CAPO test. D) Nuclear method
48. Test to find Fire damage assessment...

A) Rebound hammer test B) Chloride test C) Half cell method D) Thermo Gravimetric
analysis.



49. Field testing is a stage of...

A) Commercial survey B) Construction survey C) Condition survey. D) none of the above
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50. Lack of knowledge of structural softwares is an example of...

A) Visual error B) Construction error C) Design error. D) none of the above
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Question-3
1. Main purpose of repair is...

A) to bring back shape of building. B) to let building stay as it is C) to demolish building D)
none of the above
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2. Removal of portion of cracked masonry walls and rebuilding them is example of...

A) Repair B) Restoration. C) Retrofitting D) none of the above
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3. Most important band among following is...

A) Plinth Band B) Lintel Band. C) Roof Band D) Gable Band
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4. Design seismic coefficient is more than 0.12 then building is categorised as...

A) Category A B) Category B C) Category D D) Category E.
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5. Minimum thickness of band should be...

A) 45mm B) 55mm C) 65mm D) 75mm.
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6. Patching us plaster is example of...

A) Repair. B) Restoration C) Retrofitting D) none of the above
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7. Full form of SBR....

A) Styrene Butadiene Rubber. B) Styrene Butadiene Resin C) Styrene Butane Rubber D) none
of the above
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8. For building category A, recommended mortar (Cement:Sand) is...
A) 1:6 or richer. B) 1:7 or richer C) 1:8 or richer D) 1:9 or richer
9. Increasing lateral strength by reinforcement is an example of...

A) Repair B) Restoration C) Retrofitting. D) none of the above
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10. To prevent efflorescence...
A) Material should not contain salt B) provide DPC at plinth level

C) Rainwater should be restricted D) all of the above.
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11. Patching fallen plaster is example of...
A) Repair. B) Restoration C) Retrofitting D) none of the above
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12. Material used to prevent efflorescence...

A) Silicon B) Silver C) 10% solution of HCL. D) none of the above
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13. Giving unity to structure is called...

A) Repair B) Restoration C) Retrofitting. D) none of the above
14. Band which must be provided at all floors...

A) Plinth Band B) Lintel Band. C) Roof Band D) Gable Band

Y. 0led 6f O1HL HIOL UR UElA A9l of 715w ..

w) [teey oies ofl) [d24 oles. Al) 9d 61es {l) AAY oleg

15. Injecting epoxy material is example of...

A) Repair B) Restoration. C) Retrofitting D) none of the above
15. Epoxy material < ©<6y52e 24 GEL2EL £9...
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16. Slab jacketing is used for...

A) Highway maintenance B) Repair of expansion joints C) Repair of settlement in concrete
slab D) all of the above.
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17. Design seismic coefficient is 0.08 to 0.12 then building is categorised as...

A) Category A B) Category B C) Category C D) Category D.
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18. For repairs over small areas, If depth of carbonation has reached reinforcement level RCC
slab is repaired with...

A) Polymer modified cement mortar. B) Shotcrete C) Epoxy D) none of the above



19. Painting is example of...

A) Repair. B) Restoration C) Retrofitting D) none of the above
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20. Fastest method of repair of slab...

A) Slab monitoring B) Slab inspection C) Slab Jacketing. D) none of the above
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21. Repair doesn’t improve...

A) shape of building B) strength of building. C) functioning of building D) none of the above
22. Rebuilding compound wall is example of...

A) Repair. B) Restoration C) Retrofitting D) none of the above
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23. Band which required at eaves level of trussed roofs is...

A) Plinth Band B) Lintel Band C) Roof Band. D) Gable Band
23. 2% 9dl DU R 2AUALAS 0L 9 ...
wl) [Peen oles oll) [d2a oieg 2dl) 94 oles. &l) dAod oies

24. Eliminating features that are sources of weakness is called...

A) Repair B) Restoration C) Retrofitting. D) none of the above
24. A0Sl 2 89 d Y[AAUBHA £2 5230 5EAUHL 209, 99,
21) AHIRsIH ofl) Yz ) 2215000 ) Gualsd 55 sl

25. Crack repair in concrete can be done by,

A) Grouting B) Dry packing C) Stitching D) all of the above.

2U. sil524l 55 [RUR 2L 2L 521 2511 99,

21) 1B [2a1 oil) g11 ulsol ) 221E01 &) GuRisd dHIH. .

26. Design seismic coefficient is 0.06 to 0.08 then building is categorised as...



A) Category A B) Category B C) Category C. D) Category D
2. RS RaRHs oaiis 0.06 @l 0.08 &9 usdl Hsiad Adflsd s2aumi »ud ...

wl) $2012] wl ofl) $2012] ol 2dl) 5208l «l . &) s2adl )

27. Avoiding possibility of brittle modes of failure is an example of...
A) Repair B) Restoration C) Retrofitting. D) none of the above

28. Minimum proportion of concrete in band is...

A)1:1:2B) 1:1.5:3C) 1:2:4. D) 1:3:6

29. Total length of openings in a wall shall not exceed 33% of distance between two cross
walls in...

A) 1 storey building B) 2 storey building C) 3 storey building. D) 4 storey building
30. Restitution of strength of building is called...

A) Repair B) Restoration. C) Retrofitting D) none of the above

31. Purpose of repair is...

A) to bring back shape of building B) to start all services of building C) to function the
building as before D) all of the above.

34. RUzl ¢q ©9....

5) Hsled <l 241512 U9l ALl ofl) Hstedl duim A1l 243 5291 Al) Hsldd usaldl orm 51 5291 iz
8l) Guz<l orHl ouiotdl.

32. Rearranging roofing tiles is example of...

A) Repair. B) Restoration C) Retrofitting D) none of the above

33. Design seismic coefficient is 0.05 to 0.06 then building is categorised as...

A) Category A B) Category B. C) Category C D) Category D
33. (24194 [R5 s 0.05 4l 0.06 €9 ussl Ul Aoil5d 52AHI 204 ©9...

21) 5201<] voil) 52012) ofl. dl) 202l 2l &) 52012l <)
34. Band which are provided when soil is soft...
A) Plinth Band. B) Lintel Band C) Roof Band D) Gable Band

35. Total length of openings in a wall shall not exceed 42% of distance between two cross
walls in...

A) 1 storey building B) 2 storey building. C) 3 storey building D) 4 storey building

36. For building category E, recommended mortar (Cement:Sand) is...



A) 1:4 or richer. B) 1:5 or richer C) 1:6 or richer D) 1:7 or richer
37. Fixing plumbing service is example of...

A) Repair. B) Restoration C) Retrofitting D) none of the above
38. Most cost-effective method of repair of slab...

A) Slab monitoring B) Slab inspection C) Slab Jacketing. D) none of the above

3¢ 2401l UHIRsIMAL Aol 9 w2 p1uR5125 ugAld. ..

5) 2@ot Hilaz(Rol ofl) xaot [A<lael 2dl) 240 sysl2a. {) Gurisd 5 sl

39. For any category building floor height should not exceed...
A) 2m B) 3m. C) 4m D) 5m

40. For repairs over large areas, If depth of carbonation has reached reinforcement level RCC
slab is repaired with...

A) Polymer modified cement mortar B) Shotcrete. C) Epoxy D) none of the above
41. White washing is example of...

A) Repair. B) Restoration C) Retrofitting D) none of the above

42. Seismic strengthening of damaged building is called...

A) Repair B) Restoration C) Retrofitting. D) none of the above

43. Design seismic coefficient is 0.04 to 0.05 then building is categorised as...

A) Category A. B) Category B C) Category C D) Category D

44. Full form of DPC is...

A) Damp Packed Concrete B) Damp Proof Concrete C) Damp Proof Course. D) none of the
above

45. Total length of openings in a wall shall not exceed 50% of distance between two cross
walls in...

A) 1 storey building. B) 2 storey building C) 3 storey building D) 4 storey building
46. Minimum grade of concrete in band is...

A) M-10 B) M-15. C) M-20 D) M-25

47. For building category D, recommended mortar (Cement:Sand) is...

A) 1:4 or richer. B) 1:5 or richer C) 1:6 or richer D) 1:7 or richer

48. Band which acts as DPC...

A) Plinth Band. B) Lintel Band C) Roof Band D) Gable Band

49. Proportion of masonry mortar should not be poor than...



A) 1:4B)1:5C) 1:6.D) 1.7
50. Fixing Electrical wiring is example of...

A) Repair. B) Restoration C) Retrofitting D) none of the above

Question-4

1. Polymer is a group of?

A) Ponomer B) Monomer. C) Lonomer D) none of the above
1. Ui[aHR oL 2l vis oy €97

W) YAl ofl) HidlHz, 2dl) dldinz §l) Gurisd 59 dl

2. Natural rubber is also called...

A) Atex B) Betax C) Latex. D) none of the above

2. 523l 2012 A AL UBL SEAHI 209, 99, ..

wl) vizsA oll) olzsa «l) dzs. &) Guzisd 59O 44l

3. Parameters on which repair material’s selection depends...
A) Workability B) Durability C) Cost D) all of the above.

3. URHWEL 67l vz Rz 2l uieall 2umR v 9. .

5) s1A8HAL ofl) 2516uR L) (544 {l) Gulsd dHIH.
4. Which of the following admixture lowers the setting time?

A) Accelerators. B) Retarders C) Pozzolana D) all of the above
4. {laumizl 2u Moo Al2or aHaq 2089 52 972

w1) UQaLs. ofl) <1213 2dl) Ulialdl &) GURsd dHIM

5. Super Plasticizers were first developed in which country?

A) USA B) Germany C) Japan. D) India
5. Yuz walReuldnd s1L 2ami Al uaK [Asfid 24 ¢di?
2) 424221 ofl) oxAedl 2dl) Muiq. &) @Rd

6. With base material is M-20 grade concrete then repair material should be of...

A) M-15 B) M-20 C) M-25. D) none of the above

6. o1 H[2[Raa 2 -20 A sil52 sl Al [2uz vElaa €idl s, ..



ul) 214 -15 ofl) 214 -20 «l) 214 -25. §l) Gulsd 59 Al

7. Acid is...

A) Accelerator B) Retarder. C) Pozzolana D) none of the above

8. Which admixture permit reduction of water up to 30% without affecting workability?
A) Accelerator B) Retarder C) Super Plasticizers. D) none of the above

9. Which of the following is used as curing compound...
A) Cacl,. B) Casos C) Epoxy D) all of the above

tz. AlAAmigl S 141EZ21 5¥UIGs dZls quA 9. ..

u1) Cacl,. ¢il) Caso, ) Sulsl {l) Gualsd dui

10. Widely used retarder is...
A) Cacl, B) Casos. C) Epoxy D) all of the above

10. PUYSUBL GUALIHE QdldlL 2184 ...
u1) Cacl, ¢il) Caso, ) Suisil ) Gulsd dHH

11. Requirement for reducing drying shrinkage of Repair material...

A) low w/c ratio. B) low lime content C) low stone content D) none of the above
11, AHIRSIH UHALAL Y5ldL As51A4 d21al Hizedll 2419494540 ...
1) <l=il wic ayaridz. ofl) «flar i uHwel Al) dlan weazd une i) Gulsd 59 4l

12. Resistance against weathering effect is known as...

A) Workability B) Durability. C) Ability D) none of the above
12. gAlHIA 2142 A0 U[As12 AZl5 v 69 ..
2) sPhaudl oil) 2516urR. ) #Hdl £l) GuRisd 56 <l

13. Silicates are...

A) Accelerator. B) Retarder C) Pozzolana D) none of the above

13. [afaszy ...

w1) U5 ofl) 212182 2dl) uiAiatdl $l) Guisd 59 el

14. Gas concrete is also known as. ..

A) Foamed concrete B) Aerated concrete C) Cellular concrete D) all of the above.

1%, AA sll524 2L AZls UAAHAHL 2UA 9.



) 514 sif52 ofl) asd silsz dl) A silse &) Gurisd dHM.

15. Material used to reduce cost of grouting...

A) Water B) Clay. C) Cement D) none of the above

16. Cellulose products are...

A) Accelerator B) Retarder. C) Pozzolana D) none of the above

17. For thin cracks grout proportion in cement: water is...

A) 1:2 B) 1:5 C) 1:10. D) none of the above

18. Acrylic polymer is...

A) Accelerator B) Retarder C) Super Plasticizers. D) none of the above
19. Full form of SBR...

A) Styrene Butadiene Rubber. B) Styrene Butadiene Resin C) Styrene Butane Rubber D) none
of the above

20. Starch is...

A) Accelerator B) Retarder. C) Pozzolana D) none of the above

20, 221d 8.

w1) UQALS ofl) 2182, ) wiAlaldl ) Gurisd 55 4l

21. Bonding strength of repair material can be improved by,

A) low cement content B) using adhesives. C) high water content D) none of the above
22. Material which doesn’t need curing...

A) Epoxy. B) Concrete C) Cementitious material D) all of the above

23. Which of the following admixture causes slow setting time?

A) Accelerators B) Retarders. C) Pozzolana D) all of the above

2.3, <dlaamidl sl Msp HlH Ao dnad 5120 oid 97

-

w1) UQALs ofl) 22184 ) wiRidil ) Gulsd dHiH

24. Water reducing admixtures is also called...

A) Accelerator B) Retarder C) Plasticizers. D) none of the above

2. Wl 9218Alel A3l UBL SSAHE 20D 8.

w1) U35 ofl) {12132 2dl) reReadnA. ) Gurisd 59 44l

25. If base material is M-30 grade concrete then repair material should be of...



A) M-25 B) M-30 C) M-35. D) none of the above
26. Latex is also known as...

A) Natural Rubber. B) Artificial Rubber C) Seminatural Rubber D) none of the above
2%, A25Ued DUl 45 VUNHAHL U 9 .

2) 24 2012 ofl) 5B 2012 ) AMAAA 2012 {) GuRlsd 5O 4d]

27. Aerated concrete is also known as. ..

A) Foamed concrete B) Gas concrete C) Cellular concrete D) all of the above.
29. A5 51(52 dZls URL SUAHAHI 209 €9 ..

) 514 sif52 oil) ol sils2 dl) Aeraz silse &) Gurisd dHIH.

28. For wide cracks grout proportion in cement: water is...

A) 1:2. B) 1:5 C) 1:10 D) none of the above

29. Sugar is...

A) Accelerator B) Retarder. C) Pozzolana D) none of the above

2 Wi ...

w1) UQALS ofl) 2182, «l) wiAlaldl ) Guzisd 59 sl

30. Cacly is...

A) Accelerator. B) Retarder C) Pozzolana D) none of the above

30. Cacl ,% 9...

w1) U5 ofl) Z12132 L) wiRialdl El) Guisd 59 el

31. Selection of repair material depends on following parameters ...

A) Workability B) Durability C) Cost D) all of the above.

3. UM ALl uieall Al wRmel ur suaEld ©

5) s1AEHAL ofl) 2516U ) (1A <) GuRisd dHIM.

32. Epoxy mortar have...

A) High strength B) Durability C) Abrasion resistance D) all of the above.
32, Sulsdl HiZlHi st 9. .

2) 322 disld ofl) 251GuRd «l) aipl uldsiz ) Guisd dHIH.
33. Fly ash is...

A) Accelerators B) Retarders C) Pozzolana. D) all of the above



33. 54l U Y.
w1) U5 ofl) 22184 ) wiRiaidl. <) GuRisd dHIM
34. Full form of PC...

A) Polymer Concrete. B) Pozzolana Concrete C) Poly Concrete D) none of the above
35. Latex modified concrete is known as...

A) PIC B) PPCC. C) PC D) none of the above

36. Foamed concrete is also known as...

A) Gas concrete B) Aerated concrete C) Cellular concrete D) all of the above.
37. Soluable carbonates are...

A) Accelerator. B) Retarder C) Pozzolana D) none of the above

38. Resin concrete is known as...

A) PIC B) PPCC C) PC. D) none of the above

39. Cellular concrete is also known as...

A) Foamed concrete B) Gas concrete C) Aerated concrete D) all of the above.
40. When concrete is to be transported for long distance admixture used is...

A) Accelerator B) Retarder. C) Pozzolana D) none of the above

0. o= diofl 2ldz Hi2 552 uRAs 53UHL 2UA AR 24 U[MA0 QU 9.
w1) UQALS ofl) 2182, «l) wiAlall ) Gurisd 59 <44l

41. If base material is M-20 grade concrete then repair material should be of...

A) < M-20 B) M-20 C) > M-20. D) none of the above

w4, opl ol W2[ad 2iH -20 A sil52 sii dl Ruz wiEdaa Sidl e .

5) <uiH -20 ofl) 214 -20 2dl) > 214 -20. ) Guzisd 59 <4l

42. Which of the following is a chemical admixture?

A) Accelerators B) Retarders C) Pozzolana D) all of the above.
w2 AldAmiEl 24 b WEan 9?

w) wilsuazd ofl) 212134 «l) ulsialdl £l) Gurlsd dHIM.
43. Modified lignosulphonates are...
A) Accelerator B) Retarder C) Super Plasticizers. D) none of the above

44. Use of Polymer Impregnated concrete is...



A) marine works B) nuclear plants C) hydraulic structures D) all of the above.
45, Casog is...

A) Accelerator B) Retarder. C) Pozzolana D) none of the above
46. Injecting mortar at high pressure is called...

A) Grouting. B) Cementing C) Curing D) none of the above

47. Monomers used in impregnation of polymer...

A) MMA B) Styrene C) Epoxy D) all of the above.

48. Workability agents are also called...

A) Accelerator B) Retarder C) Plasticizers. D) none of the above
49. Widely used accelerator is...

A) Cacl,. B) Casos C) Epoxy D) all of the above

50. pH value of concrete around steel should be...

A) <5.5B)5.5t011.5C) > 11.5. D) none of the above

Question-5

1. Resistance against weathering effect is known as...

A) Workability B) Durability. C) Ability D) none of the above
SALHLA 242 AUH U[ds12 d2ls savn 9 .

2) sPhaudl oil) 2516urR. ) #Hdl £l) GuRisd 56 <l

2. Factors affecting durability of concrete...

A) water B) chlorides C) sulphates D) all of the above.
sifs2<l 251GuRIA v1UR 5241 URetal. .
21) will ofl) sdiaids Al) ucsz &) GuRisd dHIM .

3. Crack filled with calcium carbonate is known as...

A) A crack B) B crack C) C crack D) D crack.

4. Minimum grade of concrete required for RCC in sea water...
A) M-20 B) M-25 C) M-30. D) M-40

AL Bl 21414l HIZ 2HLE9IHE U 2ua2as sif52 A 9.

w) v -20 ofl) 1M -25 2dl) 2iu -30. {l) 24 -40



5. Freezing and thawing occurs in...
A) Hot region B) Semi hot region C) Cold region. D) none of the above

5411 89 ol Lol onn 89 21 ulsaL {1241 usami A 9. .

%) o124 Uz ofl) w19 a12H Uz dl) dlld uza. &) Guzisd 55 <l

6. Depth of carbonation is highest at a humidity of about...

A) 20% B) 30% C) 40% D) 50 to 75%.

7. For durability requirements in mild exposure, minimum cover in mm is...
A) 20.B) 30 C) 45 D) 50

8. Calcium Sulphate is known as...

A) Gypsum. B) Flyash C) Pozzolana D) none of the above

slegau uegz ... adls vlavia &

2) 2. ofl) el 2l) ulsbialdl &) Gurisd 59 <l

9. Causes of crack in concrete. ..

A) structural loading B) fire C) freezing thawing D) all of the above.
sils2ul [dR1gl 5120l

2) 22534 Al ofl) 1z 2dl) sl050 ALl [3) BuRisd dHIM.

10. For extreme exposure condition minimum grade of concrete require in RCC is...

A) M-20 B) M-25 C) M-30 D) M-40.

. -~

wleifds visulzl Rl Hi2 vzl 2UoMl 21 sils2 204915 9 ..

w) 2 -20 ofl) 2iH. -25 =dl) 14 -30 1) 2iu -40.

11. Property of concrete which allows penetration of water, air and other material is known
as...

A) Workability B) Durability C) Permeability. D) none of the above
si{524Ul ABIHA 5 6p ulpll, sl el 24 AMALAL AU HogEl 20 89
2) sPhaudl oil ) 2516w 1) uAla(all . {) Gurisd 5O sl

12. Admixtures which are most suitable in Freezing Thawing...
A) Accelerator B) Retarder C) Plasticizers D) Air entraining Admixtures.
w8M5aA s o gllkoL 2ol iz Aledl 4n 9.

w) udls oll) 22182 «l) ralReuidoad ) sal udell siaH@sa.



13. Sea water contains most...

A) nitrates B) chlorides C) sulphates. D) all of the above
UL ULEllHL Hi2IIRL S 8.

2) A2z ofl) sdizndg 2l) ez . &) GuRisd dHIH

14. Measures to control sulphate attack...

A) Sulphate resisting cement B) Use of pozzolana C) Use of Air entrainment D) all of the
above.

Acs2 w25 [RiRAd 52040 waal. ..

-~

2) Ueszel ulasz sl [z ofl) uiotidialdl Guaiol ) ¢al g <Al Guaiol £l) Guzisd dHIH.

15. For durability requirements in moderate exposure, minimum cover in mm is...
A) 20 B) 30. C) 45 D) 50

16. Thermal diffusivity is expressed as...

A) K B) C C) &. D) none of the above

17. In structures likely to be in contact with sea water minimum cover provided to steel should
be...

A) 45mm B) 55mm C) 65mm D) 75mm.
18. Efflorescence is severe in...

A) Hot weather B) Hot weather is followed by Cold weather. C) Cold weather D) none of the
above

Vs 2L dlg 9.
%) 9124, ALl 6fl) £31 ALl Ul A2H AlMIA BA €9, 24l) 21 sAHIA L) GuLsd 59 ]

19. Acid attack occurs at pH value...

A) <6.5. B) <7.5 C) <8.5 D) <9.5

20. For very severe exposure condition minimum grade of concrete require in RCC is...
A) M-20 B) M-25 C) M-30 D) M-35.

21. Durability of concrete is required against...

A) Acid attack B) Sulphate attack C) Freezing thawing D) all of the above.

sifs2<ll 251GuRl Al Am szl & .

2) 2[4 125 oil) ucsz vizs Al) sl A1l {l) Gulsd dHIM .

22. Cement which is advantageous in sea water structures...



A) Pozzolana cement. B) OPC C) RHC D) none of the above
A4l uLilel ol1Ml s1els1zs 2. .

W) Ylotlaldl [Ruez . ofl) siiladl 241) 2022192 ) Guzisd 50 dl
23. Specific heat is expressed as...

A) K B) C. C) é D) none of the above

24. Minimum cover in mm for footing shall be...

A) 20 B) 30 C) 45 D) 50.

s(eot w1z H{IHIHI dm 592 ©al...

5) 20 o{l) 30 1) 45 &) 50 .

25. Efflorescence causes most harm to which aspect of structure...

A) Appearance. B) Strength C) Life D) none of the above

-

Yos0) BUEAIRY, AL 541 Uil Alel a4 45l wSiuLg 9.

wl) 2uld . oll) alsd 2dl) @ad &) Guzisd 59 dl

26. For severe exposure condition minimum grade of concrete require in RCC is...
A) M-20 B) M-25 C) M-30. D) M-35

27. Value of Coefficient of thermal expansion is high for...

A) Limestone B) Gabbbros C) Quartzite. D) none of the above

28. Measures to control alkali aggregate reaction...

A) Controlling Moisture B) Controlling temperature C) Not using very fine cement D) all of
the above.

wlesEl 24201012 WAl [QAEA s2al-i vaal ...

2) Aoyl (LB 520 6fl) drumiaa [iRd 52 2dl) viot 200l dlHezdl Guaiol < 521 ) Guzel ofHl,
29. For durability requirements in severe exposure, minimum cover in mm is...

A) 20 B) 30 C) 45. D) 50

30. For severe exposure condition w/c ratio should be...

A) <0.45. B) 0.50 to 0.60 C) >0.60 D) none of the above

31. pH value of sea water...

A) <7.5B) 7.5t0 8.4. C) >8.4 D) none of the above

32. Minimum grade of concrete required for plain concrete in sea water...



A) M-20. B) M-25 C) M-30 D) M-40

33. Thermal conductivity is expressed as...

A) K. B) C C) & D) none of the above

34. For durability requirements in very severe exposure, minimum cover in mm is...
A) 20 B) 30 C) 45 D) 50.

35. Value of Coefficient of thermal expansion is high for...

A) Limestone B) Gabbbros C) Gravel. D) none of the above

36. Depth of carbonation can be measured by solution of...

A) Phenolphthalein. B) Phenol C) Polymer D) none of the above
511l GLLES BhIAL UL 2121 HIML 0512 €9...
2) geliesalld. ofl) sela ) uilamz ) Gualsd 59 sl

37. Silica are present in...

A) Lime B) Aggregates. C) Cement D) none of the above

[las1 2umi sionz 9.

) Al ofl) vigflolz. dl) Rmez &) Gurisd 59 <Al

38. White deposit of calcium carbonate is called...

A) Acid attack B) Sulphate attack C) Efflorescence. D) Sea water attack
3¢. s[eon siotidzl AUse AU sSAML 2UA 9.

2) 2[A3 2125 oll) ucsz 2izs Al) 2isdizen . &) elRa1L uildl gHdl
39. Factors affecting carbonation...

A) Grade of concrete B) Humidity C) Cover D) all of the above.
51018l 21242 5241 Ueial. .

5) sil52l A oil) doy dl) 592 {l) GuRisd diu |

40. For moderate exposure condition minimum grade of concrete require in RCC is...
A) M-20 B) M-25. C) M-30 D) M-35
41. Factors responsible for alkali aggregate reaction...

A) Moisture B) Aggregates C) Cement D) all of the above.

wlesdl 24201012 Ulalsal 12 syaeielz e, . .
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42. Value of Coefficient of thermal expansion is low for...

A) Limestone. B) Quartzite C) Gravel D) none of the above

43. Carbonation results due to...

A) CO B) CaCO; C) CaCOs. D) none of the above

44. Value of Coefficient of thermal expansion per degree celsius...
A)<9x10°B)9x10°to 12 x 10°. C) >12 x 10 D) none of the above
45. For durability requirements in extreme exposure, minimum cover in mm is...
A) 20 B) 30 C) 50 D) 75.

46. Thermal conductivity of concrete depends on...

A) Type of aggregate B) Moisture content C) Temperature D) all of the above.

sifs2l ANd dlssdl d-l vz [[AeiR &9 ...

21) 2UAlAZ <AL UsIz ofl) Aoy uH1EL ) diusid ) Guadl oA .
47. Alkalies are present in...

A) Lime B) Aggregates C) Cement. D) none of the above
wlesdlol dul gl @ ...

2) Al ofl) 24901012 ) RaH<z. &) GuRisd 56 sl

48. In sea water structures, following cement is desirable...
A) Slag cement. B) OPC C) RHC D) none of the above

49. Which effect is not very much seen in India?

A) Acid attack B) Sulphate attack C) Freezing thawing. D) Sea water attack
RURAHL 56 2142 o1 oyidL Huil 42]?

2) Bi[A8 125 oil) ucsz vizs Al) sl A1l &) el el gudl

50. For mild exposure condition minimum grade of concrete require in RCC is...

A) M-20. B) M-25 C) M-30 D) M-35



Question-6
1. Which of the following is a component of demolition plan?

A) Layout plan B) height of building C) method of demolition D) all of the above

-

[Mi[Aa waldedl u2s 9 £97?

) & 2162 wald oil) Hsldl G «l) RuilQad-dl ugala ) Guadl aHl oilotdl

2. Which of the following is non engineering method of demolition?

A) Wrecking ball method B) bursting C) Hand demolition D) implosion
{12 wigll 59 RHidloadl (e Seyzl ughla 9?
5) 2591 odle ugla ofl) o2l dl) sl didl wigd &) Swdina

3. Which of the following is a tool for non engineering method of demolition?

A) Wrecking ball B) Hammer C) Explosive D) Wire saw

-

<121 Higdl 52 A1 [uielladdl i Soxazl ugala wiz 9?2

1) (501 otidt oil) gHz ) [Azsi2s d) A Al
4. Which of the following is not an engineering method of demolition?

A) Wrecking ball method B) bursting C) Hand demolition D) implosion
Al2amial 59 [sHifauadl Sor<l ugala 2l ?
1) (501 otid ughld oil) w22l 2dl) sia didl wed {) Sedind

5. Water gun is an example of?

A) Static bursting B) Dynamic bursting C) A and B both D) none of the above
YLl vigs d- Gelsal 972
5) [Raz o122[01 ofl) aldsila o1z2loL 2dl) w1 w14 ofl oid &) Guzisd 59O Gl

6. Chemical expansive demolition agent is an example of?

A) Static bursting B) Dynamic bursting C) A and B both D) none of the above
554 [Add [Hifaad 2isyez ded Gelsi £97?
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7. Burster with wedges is an example of?

A) Static bursting B) Dynamic bursting C) A and B both D) none of the above



Burster (42 wedges i 4 Gelsul £97?
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8. Gas cylinder is an example of?

A) Static bursting B) Dynamic bursting C) A and B both D) none of the above
A [RAlAes2 A BelrpL 97
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9. Cardox is an example of?

A) Static bursting B) Dynamic bursting C) A and B both D) none of the above
518153 df, Gels0 6972
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10. Mild explosives are an example of?

A) Static bursting B) Dynamic bursting C) A and B both D) none of the above
Al (451251 dell 245 BELRBL 97
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11. Liquid carbon dioxide is an example of?

A) Static bursting B) Dynamic bursting C) A and B both D) none of the above
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12. A method by which building collapses inward?
A) Wrecking ball method B) bursting C) Hand demolition D) implosion

56 UgA[d 212 M5l vizrl dzs 42l ug 97
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13. A method in which weakening of key elements are done to induce collapse?
A) Wrecking ball method B) Deliberate collapse method C) Hand demolition D) implosion
14. A method by which openings are made in existing building?

A) Concrete sawing method B) Deliberate collapse method C) Hand demolition D) implosion

215 ughld oyl Heesll sladl Hslaui 2oL ollddIHi 209 & ?
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15. Water jet of 250-300 MPa is used in...

A) Pressure jetting method B) Deliberate collapse method C) Hand demolition D) implosion

250-300 MPa <l di22 sy2<l GUAIRL 2AH1L A1, 9. ..
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16. Temperature of about 2000° to 4000°C is used in...
A) Wrecking ball method B) Thermic Lance method C) Hand demolition D) implosion
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17. A steel ball of 0.5-2 ton is used in...

A) Wrecking ball method B) Deliberate collapse method C) Hand demolition D) implosion
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18. Which of the following is a tool for hand demolition?

A) Wrecking ball B) Hammer C) Explosive D) Wire saw
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2) 259 ol ofl) gHz wl) [Azs125 &) Az Al

19. Which of the following is a tool for manual demolition?

A) Wrecking ball B) Hammer C) Explosive D) Wire saw
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1) (501 olid oil) gHz ) [Asi2s {) Az Al

20. Situation similar to air pumped out of glass tube occurs in...

A) Pressure jetting method B) Deliberate collapse method C) Hand demolition D) implosion
21. Method which is best suited for demolition of 20 story building...

A) Pressure jetting method B) Deliberate collapse method C) Hand demolition D) implosion
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22. Quickest method of demolition...

A) Pressure jetting method B) Deliberate collapse method C) Hand demolition D) implosion
[uil@giq-dl Aigl sl ugald ...
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23. Slowest method of demolition...

A) Pressure jetting method B) Deliberate collapse method C) Hand demolition D) implosion
[uil@gia-dl Al sl ugala ..
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24. RDX is used in...

A) Implosion B) Thermic Lance method C) Hand demolition D) Wrecking ball method
RDX Al GUAI2L 2AIHI 414 69. ..
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25. Gelatin is used in...

A) Implosion B) Thermic Lance method C) Hand demolition D) Wrecking ball method
[Sx@ZleAell GUALIL BUHI AL €9,
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26. The gap between two successive blast in implosion is kept about...

A) 1/10 sec B) 1/100 sec C) 1/1000 sec D) 1/10000 sec

27. Method which produces maximum noise...

A) Wrecking ball method B) Thermic Lance method C) Hand demolition D) implosion
28. Which of the following is not a safety measure used in demolition...

A) Gumboots B) Helmet C) Watch D) Safety belt

<lAamidl s [FHUAAR] UM ddldl AdHAlAL vl 2l ..

1) aroiz ofl) geHz ) i ) udimdl uzal

29. Demolition work should not be carried out during...

A) 7pm to 7am B) 3pm to 3am C) 7am to 7pm D) 3am to 3pm

30. Which of the following is a requirement of walkway?

A) Lighting B) area free from debris C) area free from material D) all of the above

31. Which of the following is a safety measure used in demolition...



A) Gumboots B) Helmet C) Safety belt D) all of the above

32. To protect injuries from flying pieces what is necessary on demolition site?
A) Gumboots B) Protective screens C) Watch D) Safety belt

33. Water is sprayed during demolition to prevent...

A) Dust B) Noise C) A and B both D) none of the above
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34. Silencer are attached to jack hammers to prevent...

A) Dust B) Noise C) A and B both D) none of the above

35. Silencer are attached to excavator mounted breaker to prevent...

A) Dust B) Noise C) A and B both D) none of the above

36. To take loads due to machine and debris the following arrangement is available...

A) Gumboots B) Helmet C) Temporary supports D) Safety belt

37. In which area of structure, more explosives placed in implosion...

A) In left portion B) In right portion C) A and B both D) central portion

38. Method which is more suitable for high piers...

A) Implosion B) Thermic Lance method C) Hand demolition D) Wrecking ball method

39. Method which is more suitable for tall structures...

A) Implosion B) Thermic Lance method C) Hand demolition D) Wrecking ball method

40. Method which is more suitable for distressed piers...

A) Hand demolition B) Thermic Lance method C) Implosion D) Wrecking ball method

41. Method used when building to be demolished is surrounded by many buildings. ..

A) Hand demolition B) Thermic Lance method C) Implosion D) Wrecking ball method

42. A method by which openings are made in basement?

A) Concrete sawing method B) Deliberate collapse method C) Hand demolition D) implosion
43. Technique which is used in demolition of foundations...

A) Diamond disc cutter B) Wire saw cutting C) Diamond core boring D) none of the above
44. Technique which is used in demolition of telegraph station in japan...

A) Diamond disc cutter B) Wire saw cutting C) Diamond core boring D) none of the above

45. Technique which is used in cutting concrete shields...



A) Diamond disc cutter B) Wire saw cutting C) Diamond core boring D) none of the above
46. Technique which is used in demolition of Nuclear power plants...

A) Diamond disc cutter B) Wire saw cutting C) Diamond core boring D) none of the above
47. Method in which steel arm exerts horizontal force on building...

A) Pusher arm method B) Concrete sawing method C) Hand demolition D) implosion

48. A method by which openings are made in service tunnel?

A) Deliberate collapse method B) Concrete sawing method C) Hand demolition D) implosion
49. Technique which is used in demolition of mass concrete...

A) Diamond disc cutter B) Wire saw cutting C) Diamond core boring D) none of the above
50. A method by which openings are made in flyover?

A) Implosion B) Deliberate collapse method C) Hand demolition D) Concrete sawing method



